
Year 4—Money– bar model money problems.  

Use the bar model to solve the problems.  

Altogether lunch cost  £15. Mr Gaibee paid twice as much as Mr Douglas.  How much did they each make?  

Mr Douglas 

Mr Gaibee 

= £15 

Mr Gaibee paid ______ 

Mr Douglas paid ________ 

The prize at a charity raffle was £32.  

1st place got 3 times as much as 2nd place. How much did they each get?  

Mr Gaibee 

2nd place  

1st place 

=£32 

1st place got:  _____ 

2nd place got: _______ 



Zoe and Alfie bought some stickers. They spend £10. Zoe paid 4 times as much as Alfie. How much did they each pay?  

Max and Rob were paying for a birthday cake. The cake cost £36. Max paid 5 times as much as Rob. How much did 

they each pay?  

Draw your own bar model to help you solve these problems.  


